Rysunek nr 1

LOKALE POD APTEKA
SKALA 1:50

|
hpom=227cm hp=0 hpom=226cm hp=0 hpom=216cm hp=0 H
i i g8 [ T 58 T sls
SIS IR el
£
N
q
g 306.5
Q.
e
- grzejnik
o o
g g 8
1 LOKAL NR 3 LOKAL NR 2 LOKAL NR 1
pow. 37,1m? pow. 30,2m? pow. 50,0m? =
H I
hp=0
—- —+ 4 S § N
] ) hpom=230cm I: Q hpom=230cm I__ Q| hpom=226¢cm c:r
— 4 — A . - . «
296
E £ 01 |POM. 01 02 \ POM. 02 01 |POM. 1
& 01|POM. 01 81 |le 24,27 plytki cer. = 31,47 plytki cer. 12,7 plytki cer.
2 . Ei o O | —
2 311 mZ‘ ptytki cer. E % hpom=254cm % hpom=254cm - hpom=254cm
I I . S N
hpom=254cm E 23 H AN
I « T 290 Q
- 200 \ «
298 ]
) 2995 22 298 |
03 |w-C - e " .
2,8 pytii cer. 3 / E 8 S
/ 5]
= & 0
/ ol§ 2 2
/ Z T
1 |
. L EI ] [ L_, = 7
R - = LT
] — B[ 132 M7, 146 e
\\\S 90 /“ O}N W'b\\\m o 90 \\ - 7 T‘
o 20 / 29000 / 2,87 plytki Cer?c"\ 200 : 5 /o 90 0:12} POM. SOCJAL. g/ \ H
\ y / \ N ’// 0 . 7
EI[ g‘g o ) Y 8§ “‘ 1: / 20 4.6 nr| plytki cer. 8\% H
L —— - - \ 3 [ |
— A 02 | POM. SOCJAL: , Sl o £ e | ot —
3,20l piyt cer. ] 300 22 141 16 i 140
E] _ e 151 ell22] | 263 1| 02|POM. SOCJAL| | 11 1
) 3 2 2 ] © 3,27 plytki cer. 2 7
L [ L 5 04 |W-C
| £ £ £ v 1,3n? plytki cer. I

Lokal nr 1 - pow. 50,0 m?
Lokal nr 2 - pow. 30,2 m?
Lokal nr 3 - pow. 37,1 m?

RAZEM: pow. 117,3 m?



